

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SDD 8689S

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DEFORMED	698.00	601.00
1	FRONT BUMPER REINFORCEMENT	NOT NECESSARY	475.90	-
1	FRONT BUMPER REINFORCEMENT SPONGE	BROKEN	261.90	128.00
2	FRONT BUMPER SIDE RETAINER @\$56.80	NOT NECESSARY	113.60	-
2	FRONT BUMPER FOG LAMP COVER @\$84.00	NOT NECESSARY	168.00	-
1	FRONT GRILLE	NOT NECESSARY	499.30	-
1	FRONT BRACE PANEL	BENT	312.00	211.00
1	FRONT GRILLE BRACKET	NOT NECESSARY	71.50	-
1	BONNET	BENT	987.00	665.00
1	BONNET INSULATOR	TORN	323.10	323.10
1	BONNET SEAL	NECESSARY	41.30	41.30
1	BONNET CHROME EMBLEM	NECESSARY	114.30	114.30
1	FRONT SUPPORT PANEL	BENT	625.00	625.00
1	FRONT SUPPORT PANEL TOP COVER	NOT NECESSARY	219.70	-
2	HEAD LAMP @\$989.00	O/S CRACKED	1,978.00	989.00
1	A/C CONDENSER	BENT	1,302.40	1,244.00
1	A/C CONDENSER FAN COWLING	NOT NECESSARY	347.30	-
2	A/C CONDENSER FAN BLADE @\$287.50	NOT NECESSARY	575.00	-
2	A/C CONDENSER FAN MOTOR @\$480.30	NOT NECESSARY	960.60	-
1	RADIATOR ASSY	NOT NECESSARY	1,754.60	-
1	REAR BUMPER	DEFORMED	689.00	590.00
2	REAR BUMPER REFLECTORS @\$87.10	N/S CRACKED	174.20	87.10
2	REAR BUMPER SIDE RETAINER @\$59.80	NECESSARY	119.60	119.60
1	TAILGATE	BENT	1,652.00	1,265.00
1	TAILGATE CHROME MOULDING	CRACKED	387.50	327.00
2	TAILGATE HINGE @\$78.20	NOT NECESSARY	156.40	-
2	TAILGATE DAMPER @\$234.80	NOT NECESSARY	469.60	-
1	TAILGATE WEATHERSTRIP	CUT	356.20	356.20
2	TAILGATE STOPPER @\$37.90	NECESSARY	75.80	75.80
1	TAILGATE LOCK ASSY	NOT NECESSARY	354.00	-
1	TAILGATE STRIKER	NOT NECESSARY	73.40	-

Report Ref No. CS/SMR22010211/Rvy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	TAILGATE EMBLEM	NECESSARY	117.60	117.60
1	REAR WINDSCREEN MOULDING	NECESSARY	125.00	125.00
1	REAR END PANEL	BENT	712.50	484.00
2	REAR END PANEL MEMBER @\$97.80	NOT NECESSARY	195.60	-
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	1,081.60	-
2	REAR WHEELHOUSE LINER @\$98.30	NOT NECESSARY	196.60	-
1	REAR END PANEL TOP GARNISH	DEFORMED	227.80	227.80
1	REAR CARGO TOP BOARD	NOT NECESSARY	450.80	-
2	REAR CARGO SIDE BOARD @\$263.20	NOT NECESSARY	526.40	-
1	TAILGATE INNER TRIM BOARD	BROKEN	604.90	450.00
1	TAILGATE INNER TRIM HANDLE	NOT NECESSARY	98.00	-
2	REAR FENDER INNER GARNISH @\$885.30	CRUSHED	1,770.60	1,770.60
1	SPARE TYRE CARRIER	NOT NECESSARY	245.60	-
1	SPARE TYRE CARRIER BOLT	NOT NECESSARY	45.00	-
2	TAILLAMP @\$654.00	SCRATCHED	1,308.00	962.00
2	TAILLAMP PANEL @\$520.70	NOT NECESSARY	1,041.40	-
1	EXHAUST PIPE SILENCER	BENT	763.80	763.80
2	EXHAUST MOUNTING @\$38.50	NOT NECESSARY	77.00	-
1	EXHAUST HEAT SHIELD	NOT NECESSARY	70.60	-
	LESS 25% DISCOUNT		-6,498.75	-3,165.80
			19,496.25	9,497.40
	SPECIAL NETT ITEMS			
2	NUMBER PLATE WITH CASING @\$50.00 (SN)	MISSING	100.00	35.00
1	SET FRONT BUMPER CLIP (SN)	NECESSARY	70.00	30.00
1	SET FRONT GRILLE CLIP (SN)	NOT NECESSARY	30.00	-
2	SET BONNET INSULATOR CLIP @\$31.00 (SN)	NECESSARY	62.00	30.00
3	ENGINE COOLANT @\$45.00 (SN)	NOT NECESSARY	135.00	-
1	SET REAR BUMPER CLIP (SN)	NECESSARY	70.00	30.00
2	REAR FENDER SIDE INNER TRIM CLIP @\$45.00 (SN)	NECESSARY	90.00	40.00
1	SET TAILGATE INNER TRIM CLIP (SN)	NECESSARY	70.00	40.00
1	SET REAR END PANEL TOP GARNISH CLIP (SN)	NECESSARY	45.00	30.00
2	SET REAR WHEELHOUSE LINER CLIP @\$65.00 (SN)	NOT NECESSARY	130.00	-

Report Ref No. CS/SMR22010211/Rvy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR WINDSCREEN INNER SEAL (SN) }	NECESSARY	110.00	60.00
1	REAR WINDSCREEN SEALANT (SN) }	NECESSARY	80.00	-
1	REAR END PANEL SEALANT (SN)	NECESSARY	90.00	40.00
1	REAR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	90.00	-
1	REAR FLOOR PANEL INSULATOR (SN)	NOT NECESSARY	250.00	-
1	TAILLAMP PANEL SEALANT (SN)	NOT NECESSARY	90.00	-
			1,512.00	335.00
	<u>LABOUR</u>			
	SUPPORT PANEL. RESTRUCTURE FRONT CRASH MANAGEMENT COMPONENT AND RENEW OTHER DAMAGE PARTS. (FRONT)		1,400.00	600.00
	SPRAY PAINTING ON DAMAGE AND AFFECTED AREA. (FRONT)		1,200.00	600.00
	ADJUST AND FOCUS FRONT LIGHTING SYSTE. PERFORM HEADLAMP ADJUSTMENT TO POSITION. (FRONT)		80.00	30.00
	REMOVE AND INSTALL RADIATOR ASSY, PERFORMED RADIATOR PRESSURE TEST. (FRONT)		150.00	80.00
	DISMENTLE AND REPLACE A/C CONDENSER ASSY, REFILL, RECHARGE A/C REFRIGERANT GAS AND PERFORM PRESSURE TEST. (FRONT)		180.00	120.00
	CUT OFF AND REPLACE REAR END PANEL, FLOOR PANEL AND REAR LHS FRAME, STRAIGHTEN, REALIGN REAR CHASSIS FRAME AND RENEW OTHER DAMAGE PARTS. (REAR). INCLUSIVE OF THE REPAIR OF REAR FLOOR PANEL.		1,800.00	800.00
	SPRAY PAINTING ON DAMAGE AND AFFECTED AREA. (REAR)		1,600.00	800.00
	DISMENTLE AND INSTALL EXHAUST PIPE SYSTEM TO ENABLE REPAIRS. (REAR)		120.00	60.00
	REMOVE AND INSTALL REAR PARKING SENSOR AND WIRING HARNESS, PERFORM DISTANCE SENSORY TESTING. (REAR)		150.00	40.00
	RENEW REAR FLOOR INSULATOR. (REAR)	NOT NECESSARY	80.00	-
	REMOVE AND REPLACE SMART KEYLESS ANTENNA AND BUZZER. RESET SMART ENTRY SYSTEM. (REAR)	NOT NECESSARY	250.00	-
	PERFORM REAR LIGHTING WIRING CHECK AND TEST FUNCTION. (REAR)		80.00	30.00

Report Ref No. CS/SMR22010211/Rvy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

10,650.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REMOVE AND INSTALL REAR MULTI-VIEW CAMERA ASSY. PERFORM AIMING AND ADJUST TO POSITION. (REAR)	NOT NECESSARY	200.00	-
	CONDUCT WATER LEAKAGE ON WELDING JOINT AREA. (REAR)		100.00	30.00
	TRANSFER REAR TAILGATE ATTACHMENT AND MECHANISM INTO NEW TAILGATE ASSY. (REAR)		180.00	60.00
	DISMENTLE AND INSTALL REAR SEATS, SPEAKER BOARD AND TAILGATE TRIMMING. (REAR)	NOT NECESSARY	200.00	-
	REMOVE AND INSTALL REAR WINDSCREEN GLASS. (REAR)		180.00	120.00
	DISMENTLE AND INSTALL REAR COMPARTMENT TRIMMING. (REAR)	NOT NECESSARY	200.00	-
	REMOVE AND INSTALL FUEL TANK AND FUEL PIPING TO ENABLE REPAIRS. (REAR)	NOT NECESSARY	200.00	-
	APPLY TUFF COATING TREATMENT. (REAR)		300.00	100.00
			8,650.00	3,470.00
	GRAND TOTAL		29,658.25	13,302.40

Report Ref No. CS/SMR22010211/Rvy3e2

**RECOMMENDED COST OF LUMP SUM REPAIRS** 

(TO ITS PRE-ACCIDENT CONDITION)

MOHAMMED RASUL BIN MOHD YUNUS

**Automotive Assessor** 

ANG BRYAN TANI

**Automotive Assessor / Investigator**